
2

19
20

18

16
9

12
11

13
9

22

9

21

65

23

30
29

14

10

27

25

24

15

17

17

4
1

7

8

26

31

3

28

24

ITEM 
NO. PART NUMBER DESCRIPTION ProductID QTY.

1 Rubber strip Rubber band 60mm(150m) 2015-606-OKE ba960020 5.1

2 HB-09-002-T Bobo - Sides(pair)(plywood 18 mm) ba120901 2

3 Oke ClipFix Oke ClipFix length 800mm, 46x2mm ba960104 2

4 Flat head Screw Ø3,5 Pleksor 0112111551, 3.5x16mm, Zn ba950105 8
5 HB-09-007-T Bobo - Plywood strip 835x40x4mm ba120906 2

6 HB-09-006-T Bobo - Backrest top stretcher ba120905 1

7 Back support block Support for plywood strips - Top 2

8 Back support block Support for plywood strips - Bottom 2

9 Serrated T-Nut Pleksor 22143IMT08, M8x11mm ba952709 6

10 Pan Head Bolt M8 Pleksor 738010080551, M8x55mm, Zn ba950720 2

11 HB-09-008-T Bobo - Cardboard back 4mm ba120907 1

12 Pan Head Bolt M8 Pleksor 1073800825, M8x25mm, ISO7380, 
Zn ba952308 2

13 H-58-014-S Lake bench seat front bracket, 96deg ba305822 1

14 HB-09-009-T Bobo - Bottom back stretcher ba120908 1

15 Glide Pleksor 5272201004*, Ø22, White Plastic ba760077 4
16 HB-09-011-T Bobo - Back leg (260) BU12090201 2

17 Washer Øvrebust Plast no.044 ba760052 4
18 Hangerbolt M8 Siso 12.13.035-2, M8x80mm, Torx, yZp ba953022 4

19 Flat head Screw Ø5,0 Pleksor 0112114802, 5.0x70mm, Partial 
Thread, Zn ba950138 8

20 Dowel Ø10 Dowel 10x30mm bat10x30 12

21 HB-09-012-T Bobo - Lower side block ba120909 2
22 HB-09-010-T Bobo - Front leg (285) BU12090101 2

23 Insert Nut M8 M8x14x18mm ba952735 2

24 Flat head Screw Ø4,5 Pleksor 0112113501, 4.5x35mm, Zn ba950127 12

25 HB-09-020-S Spring Zig-Zag 380mm 19(10x9)/3,8 BH 80 ba402206 6

26 HB-09-021-T Bobo armrest side block ba120901 2

27 HB-09-003-T Bobo - Front stretcher ba120902 1

28 Spring holder Klipsiriba 80mm, raami peal (1=2500) ba960081 12

29 HB-09-004-T Bobo - Bottom middle stretcher ba120903 1

30 HB-09-005-T Bobo - Backrest middle stretcher ba120904 1

31 HB-09-020-T Bobo - Higher side block - 2

Danel

Date approved: Date created:

Approved by:

Sheet format/size: Scale: Units:

Weight in grams: Material:

Description: Part number/name: Revision:

Last saved by:

Last saved:

Config name:

Tolerance:

Drawn by:

DIMENSION IN MILLIMETERS
EUROPEAN PROJECTION

HB-09-001-A

Uve

1:6 mmA3

+/-0,3 mm

02.06.2021

08.01.2025

Bobo high back chair - Assembly

HAPVAL,NÕMME KÜLA
HAAPSALU LÄÄNEMAA

90439 EESTI

THIS DRAWING IS THE PROPERTY OF HELLAND 
BALTIC OÜ AND MUST NOT BE COPIED OR 

USED WITHOUT OUR APPROVAL
Product ID:

A No foam



2

5

9 810

1

6
7

4

3

ITEM 
NO. PART NUMBER Description PRODUCTID QTY.

1 HB-09-015-SK_photo Bobo backrest back-side 
foam ba200900 1

2 HB-09-014-SK_photo Bobo - Backrest top foam ba200901 1
3 HB-09-018-SK Bobo backrest front foam-1 ba200905 1
4 HB-09-013-SK Bobo - Inside foam-1 UPPER ba200902 2
5 HB-09-016-SK_photo Bobo - Armrest foam ba200903 2

6 HB-09-013-SK Bobo - Inside foam-2 LOWER 
18mm ba200907 2

7 HB-09-013-SK Bobo - Inside foam-3 LOWER 
19mm ba200908 2

8 H-68-048-SK Pan sofa seat foam ba20680004 1
9 HB-09-017-SK Bobo - Front foam ba200904 1
10 HB-09-018-SK Bobo backrest front foam-2 ba200906 1

Date approved: Date created:

Approved by:

Sheet format/size: Scale: Units:

Weight in grams: Material:

Description: Part number/name: Revision:

Last saved by:

Last saved:

Config name:

Tolerance:

Drawn by: UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

THIS DRAWING IS THE PROPERTY OF THE HELLAND BALTIC OÜ
AND MUST NOT BE COPIED OR USED

WITHOUT OUR APPROVAL

DIMENSION IN MILLIMETERS
EUROPEAN PROJECTION

HB-09-001-A No foam

Ergo

1:8 mmDanel Jaanson A3

+/-0,3 mm

02.06.2021

08.01.2025

Bobo high back chair - Assembly

HAPVAL,NÕMME KÜLA
HAAPSALU LÄÄNEMAA

90439 EESTI



 12 
 39 

 38  39 
 11.02 

 8
37

 
 3

00
 

 25 

 2
00

 

Kinnitada liimi ja haagiga

Kinnitada liimi ja haagiga

Kinnitada kruvide ja klambritega

Oke kummilindi kinnitamine
Antud tootel lasta ainult üks rida ja võimalusel mõned teise ritta.

Date approved: Date created:

Approved by:

Sheet format/size: Scale: Units:

Weight in grams: Material:

Description: Part number/name: Revision:

Last saved by:

Last saved:

Config name:

Tolerance:

Drawn by: UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

THIS DRAWING IS THE PROPERTY OF THE HELLAND BALTIC OÜ
AND MUST NOT BE COPIED OR USED

WITHOUT OUR APPROVAL

DIMENSION IN MILLIMETERS
EUROPEAN PROJECTION

HB-09-001-A No foam

Ergo

1:6 mmErgo A3

+/-0,3 mm

02.06.2021

08.01.2025

Bobo high back chair - Assembly

HAPVAL,NÕMME KÜLA
HAAPSALU LÄÄNEMAA

90439 EESTI



 93
.51

° 

 93.5° 

 3
60

.4
3 

 720 

 8
92

.4
3 

 610.93 

 115°  95
° 

 398.18 

 280.7 

 5
.5

° 

 228.84 
 1123.67 

 2
3.

5 

A

 610.93 
 654.89 

 719.97 

 4
1.

7 

 523.72 

 527.71 

 7
34

.7
4 

 5
30

.3
 

 65° 

 55 
 16.89 

 2
3 

 2
5.

39
 

DETAIL A
SCALE 1 : 2

Date approved: Date created:

Approved by:

Sheet format/size: Scale: Units:

Weight in grams: Material:

Description: Part number/name: Revision:

Last saved by:

Last saved:

Config name:

Tolerance:

Drawn by: UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

THIS DRAWING IS THE PROPERTY OF THE HELLAND BALTIC OÜ
AND MUST NOT BE COPIED OR USED

WITHOUT OUR APPROVAL

DIMENSION IN MILLIMETERS
EUROPEAN PROJECTION

HB-09-001-A No foam

Ergo

1:10 mmDanel Jaanson A3

+/-0,3 mm

02.06.2021

08.01.2025

Bobo high back chair - Assembly

HAPVAL,NÕMME KÜLA
HAAPSALU LÄÄNEMAA

90439 EESTI



 751 

 9
13

 

 641 

 3
81

 

 1144 

 751 

 4
75

 

 686 
 517 

 610 

 7
80

 

Date approved: Date created:

Approved by:

Sheet format/size: Scale: Units:

Weight in grams: Material:

Description: Part number/name: Revision:

Last saved by:

Last saved:

Config name:

Tolerance:

Drawn by: UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

THIS DRAWING IS THE PROPERTY OF THE HELLAND BALTIC OÜ
AND MUST NOT BE COPIED OR USED

WITHOUT OUR APPROVAL

DIMENSION IN MILLIMETERS
EUROPEAN PROJECTION

HB-09-001-A No foam

Ergo

1:10 mmDanel Jaanson A3

+/-0,3 mm

02.06.2021

08.01.2025

Bobo high back chair - Assembly

HAPVAL,NÕMME KÜLA
HAAPSALU LÄÄNEMAA

90439 EESTI


